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ag| B HER) | 98| BIGAM) TR lconzoaa] mem g (o @
EIEE m ke | A=e | Em
1 |-0+640.0(-0+568.0] A2 | 720 7841 180.0 250 | 4.00% | 2.31% -
2 |-0+530.0|-0+460.0{ M | 70.0 | 1,116.2 3745 250 | 4.00% | 2.31% -
3 |1+870.0|2+050.0| = | 180.0 | 3,257.5 774.0 1.00 |10.00% | 4.37% - R-A
4 |1+920.0|2+076.0 | =t& | 156.0 | 1,703.1 522.6 1.00 |10.00% | 4.37% - R-A
5 |-0+202.0{0+068.0| A2 | 270.0 | 4,701.4 | 3159.0 250 | 4.00% | 1.86% -
6 (0+833.0(1+036.0| M | 203.0} 3,703.7 | 23751 250 | 4.00% | 2.22% -
7 |0+820.0|1+020.0{ 22 | 200.0 | 1,099.4 500.0 250 | 4.00% | 2.22% -
8 |1+070.0|1+220.0| A2 | 150.0 | 1,780.8 | 1755.0 250 | 4.00% | 3.00% HEY o482
9 |1+072.0|1+180.0} 2t | 1080 | 751.4 821.9 250 | 4.00% | 3.00% -
10 [ 1+230.0|1+340.0 | 22k [ 110.0| 5183 1287.0 250 | 4.00% | 3.00% -
i1 |1+220.0 | 1+470.0 | A€ | 250.0 | 5,1723 | 11775 250 | 4.00% | 3.00% | MER E2
12 |1+470.0 | 1+610.0| AME | 1400 | 1,570.4 350.0 250 | 4.00% | 3.00% -
13 [1+490.0 [ 1+590.0 | 22 | 100.0 | 878.6 1170.0 250 | 4.00% | 3.00% -
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1+670.0 | 1+4814.0| A2 | 1440 | 2,261.7 | 360.0 250 | 4.00% | 3.00% -
1+690.0 [ 1+820.0 | ¥ 1 130.0 | 1,1554 | 1521.0 250 | 4.00% | 3.00% -
1+930.0 | 1+4990.0| M2 | 60.0 | 7276 702.0 250 | 4.00% | 3.00% -
2+220.0 | 2+330.0 | A{& | 110.0 | 1,231.1 | 1287.0 250 | 4.00% | 3.00% -
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18 |2+420.0 | 2+510.0| M | 90.0 | 1,1445 | 1053.0 250 | 4.00% | 3.00% -
19 |2+580.0 |2+715.0 | A2 | 135.0 | 1,0665 | 1506.6 250 | 4.00% | 3.00% -
20 | 2+580.0 | 2+692.0| 2F2F | 112.0 | 1,255.9 | 1260.0 250 | 4.00% | 3.00% -
21 |2+745.0 | 2+930.0 | A& | 185.0 | 2,0859 | 2079.4 | 250 | 4.00% | 3.00% -
22 |2+746.0 | 2+850.0 | 22k | 1040 | 7871 260.0 250 | 4.00% | 3.00% -
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23 | 2+642.0 | 2+980.0 | A& | 338.0 | 2,303.2 338.0 1.00 | 10.00% | 3.00% 2+720
24 | 2+642.0 | 2+967.0-| ¥k | 325.0 | 1,916.8 | 3097.3 1.00 [10.00% | 3.00% 2+840, 2+720
25 |1+000.0 |1+116.0 | & | 116.0'} 15176 1241.2 2.50 5.00% | 0.53% - R-A
26 | 0+993.0|1+150.0| == | 157.0 | 1,4515 157.0 1.00 | 10.00% | 0.53% 1+070, 1+030 R-A
27 |1+428.0{1+5650.0 | == | 122.0 488.6 11224 1.00 [10.00% | 1.95% _ - R-B
28 | 1+434.0 | 1+650.0 | & | 116.0 976.5 290.0 2.50 2.00% | 1.95% - R-B
29 | 0+900.0|0+980.0 | = | 80.0 311.0 856.0 2.50 5.00% | 1.82% - R-A
30 | 0+900.0{0+993.0| == 93.0 488.4 93.0 1.00 [10.00% | 1.54% - R-A
31 [ 1+586.0|1+656.0 | == | 70.0 311.6 644.0 1.00 |10.00% | 1.95% - R-B
32 |1+586.0 [1+664.0 | = | 78.0 | 1,341.1 195.0 2.50 3.48% | 1.95% - 1 R-B
33 [0+739.0{0+828.0| & | 89.0 568.5 952.3 2.50 4.00% | 3.98% - R-A
34 | 0+730.0 | 0+852.0| =& | 1220 934.6 122.0 1 .OQ 10.00% | 3.98% - R-A.
35 |1+752.0|1+858.0 | =& | 106.0 704.3 261.8 1.00 [10.00% | 1.95% - R-B
36 |0+010.0|0+180.0| = | 170.0 | 1,875.3 1207.0 2.50 5.00% | 1.95% HER o482 R-F
37 |0+180.0 | 0+270.0| = | 90.0 1,088.6 729.0 2.50 5.00% | 5.94% HE" o482 R-F
38 | 0+440.0 |0+634.0 | & | 194.0 | 3,452.8 1571.4 2.50 2.00% | 5.94% - R-F
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5+017.0{5+179.0 | ¥} | 162.0 | 131.2 23166 | 250 | 4.00% | 1.00% -

2 |7+688.0|7+790.0| A€ {1020 | 394.9 357.0 250 | 4.00% | 1.00% | -

7+863, 7+965

(o] o] 9 9
3 |7+689.0 | 8+185.0 C?*J 496.0 | 4,493.4 | 496.0 1.00 |10.00% | 1.00% 8+045, 8+171

7+870, 7+950
4 |7+789.0|8+194.0| A2 | 4050 | 3,832.2 | 3,726.0 1.00 |10.00% | 1.00% | 7+973, 8+054
8+168

5 |7+870.017+973.0| A2 [ 103.0| 1,4474 | 2575 250 | 4.00% | 1.00% | HES =42
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am| B HCR) | |2 ®] SRENM) (PR oo gseaa] mem ax (o 1
IR m [mae | Aes | Em

T 19+168.0|9+2300| MS | 620 | 6524 | 7254 | 350 | 4.00% | 1.55% -

2 |9+025.0|9+240.0| 2rer | 2150 | 34794 | 4300 | 1.00 |10.00% | 0.80% 3:’_?28: g:;gg

3 [11+328.0[11+460.0] A= | 1320 | 1,3841 | 4620 | 250 | 4.00% | 2.18% -

4 [11+281.011+5000] A|= | 219.0 | 1,4152 | 20148 | 1.00 |10.00% | 2.18% | 11+400, 11+450

5 [11+276.0[11+492.0] 2 | 216.0 | 1,3924 | 2160 | 1.00 |10.00% | 2.18% -

6 [11+280.0[11+390.0] 2r2} | 110.0 | 1,260.9 | 1287.0 | 250 | 4.00% | 2.18% -

7 [11+500.011+600.0] 2kt | 100.0 | 1,611.4 | 10700 | 250 | 4.00% | 2.18% | MEES =42

8 [1+595.011+7792] /= | 1842 | 1716 | 7165 | 1.00 |10.00% | 0.87% RS

9 [11+550.0111+773.5| ket | 2235 | 286.7 | 2235 | 1.00 |10.00% | 0.87% PR

10 |12+178.4/12+353.0] M2 | 1746 | 3,011.3 | 20428 | 250 | 4.00% | 0.87% -
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1 [12+8375.0|{12+464.0| A2 | 89.0 | 1,8455 | 1130.3 2.50 4.00% | 1.87% -
2 {15+976.0[16+042.0{ 22k | 66.0 688.0 21043 200 | 4.00% | 0.54% -
3 |0+209.0|0+310.0| 2= | 101.0 | 4564 640.3 1.00 [10.00% | 1.12% - R-C
4 |1+753.0(1+842.8| == | 89.8 768.5 89.8 1.00 {10.00% | 5.11% - R-A
5 |0+230.0(0+4176| £ | 187.6 | 2,648.0 | 11031 2.00 | 4.00% | 1.15% - R-E
6 |1+285.0|1+380.0; £ | 95.0 | 2,904.0 | 1064.0 2.00 | 5.00% | 3.17% - R-A
7 |1+290.0|1+387.0| =& | 97.0 | 1,4004 97.0 1.00 [10.00% | 3.17% - R-A
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0{7|M, 2o BV) = 1/n x R x M
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